In the diagram
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DE =a
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HG =8b

EX:XH=3:1 D

EF:FG =1:3
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17 (a) (i) m=<§/)
Find 3m. / .5
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(i) VWV"(—24)

Find | VW |.

e

J (10)’“1-(-1‘!)9~ = 240

(b) 3 |
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¥ NOT TO
SCALE
0 :l C
OABC is a parallelogram.
OA = p and oC= q.
E is the point on AB such that AE : EB=3: 1.
Find 04E., in terms of p and q, in its simplest form.
- ) =
=< [
oc =0A +
> P r3yY
L
S
oE=.PY. Iiﬂe .......................
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(ii) Find |p|.

a2+ 5%

S

- =3
(b) A isthe point (4, 1) and 4B = ( 1).

Find the coordinates of B.

.............................................

(¢) Theline y=3x—2 crosses the y-axis at G.

Write down the coordinates of G.
%.: 3(6) -2
= -2 v O“‘Z‘ .......... ) [1]
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The diagram shows a parallelogram CDEF..
FE =m and CE = n.
B is the midpoint of CD.
FA=2A4C
Find an expression, in terms of m and n, for AB.
Give your answer in its simplest form.
-
CF20-1
—-\)
I, 0 l ™ l
2 Y TP
AB * 4= = 5= 72
Ln¢b m
Loatl m
etvy
AR = s R
(b) GH=3(2p+q)  JK=13(2p+q)

Write down two facts about vectors GH and JK .

.....................................................................................................................................
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NOT TO
SCALE
0
The diagram shows a triangle O4B and a straight line OAC.
OA : OC =2 :5 and M is the midpoint of 4B.
OA=aand OB=Db.
Find, in terms of a and b, in its simplest form
(a) 4B,
T -b =& [1]
(b) MC.
= .b-C %’ x2G
=l 5
\ xXJy G
MAz Y b-vc 2
a2 2
7s¥2 3
Lh-batde
C - .2 -7 < f R
2 2
= ‘ﬁhl-c_\_ /Q.b' + &
MU = .ccrrienssesssosssanssorsransansssassasssesssnses [3]
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b L NOT TO
SCALE

LA 4

>
2 > T Le

O is the origin and OPQR is a parallelogram.
SOP is a straight line with SO = OP.

TRQ is a straight line with 7R = RQ.
STV is a straight lineand ST: TV=2: 1.

OR = a and OP = b.

(a) Find, in terms of a and b, in its simplest form,

(i) the position vector of 7,

5—?,&—-5

- ey -
(i) RV.

(b) Show that PT is parallel to RV.
—_—
PT=-2b¢ o
= o -2b

-y =9

22(Ye-3)
—_> —)
- PT - 2RV
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NOT TO
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In the diagram, O is the origin, OT = 27D and M is the midpoint of 7C.

(f’=cand07)=d.

Find the position vector of M.

Give your answer 1_n_tgms of ¢ andg in its simplest form.

T¢ - 0C-0T

2 e-%.d
" l
TM = ')2‘.'-. - 13‘.,_.

Ld.|
vy ¢
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8 (a) AB—(_1> 13c_(5
Find
@ AC,
(i BD,

s /2
DC1<-33
3 1(':32-3

(i) |BC|.

A

~J2a =2 5.39
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(b)

NOT TO
SCALE

0
o.t-y

In the dlagram OAB and OED are straight lmes
O is the origin, 4 is the midpoint of OB and E is the midpoint of AC.
AC=aand CB=b.

Find, in terms of a and b, in its simplest form

() 4B,

oG = ‘“‘5 ta

) R 2]

(iii) the posmon vector of D

&0 * 06 +€Ci-C‘D
2 harbris 3

-—2
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